
 

396-4304Y1 - Commander II Page 1 Revised: 6/17/2019 
Weatherproof Enclosure © 2015 SureFire Ag Systems, Inc.  

396-4304Y1 
Commander II Weatherproof 

Enclosure with Remote Section 
Switches 

Kit Number: 540-03-100100 
Note: Commander II Console not included with this kit. 



 

396-4304Y1 - Commander II Page 2 Revised: 6/17/2019 
Weatherproof Enclosure © 2015 SureFire Ag Systems, Inc.  

10 

Parts List and Exploded View  

ITEM NO. Part Number Description QTY 

1  200-03-4275Y1 
Commander II Orchard Sprayer Weatherproof Enclosure with Re-
mote mount section swtiches 1 

2  472-RAM-201U RAM Mount, Standard Length Double Socket Arm for 1.5" Balls 1 

3  472-RAM-202U 
RAM Mount, 2.5" Round Base with the AMPs Hole Pattern & 1.5" 
Ball 2 

4  340-100012 Machine Screw - Size 10 x 3/4" 4 

5  340-100104 Machine Screw - Size 10 x 1-1/4" 4 

6  321-1024 Size 10 Nylock Nut with 24 threads 8 

7  330-1024 Size 10 Flat Washer 16 

8  300-040012-5 1/4" x 3/4" Hex Head Bolt - G5 2 

9  321-04 1/4" Nylock Nut 2 

10  330-04 1/4" Flat Washer 4 

1 

2 

3 

3 

4 

6 

7 

8 

9 

5 

6 

7 



 

396-4304Y1 - Commander II Page 3 Revised: 6/17/2019 
Weatherproof Enclosure © 2015 SureFire Ag Systems, Inc.  

Switch Functionality 

Section 1 

Section 2 

Section 3 

ON OFF 

NOTE: For the Remote 
Mount Section Toggle 
Switches to function  
properly, the section 
switches on top of the Com-
mander II Console must be 
in the “OFF” position. 


